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input and output are 3 assembly workerW Wi FifSiRATEHEAMes. WhatVI¥WHE ETIRABKE-§8Me of this
firm?

3/10

10/3

1

Can’t be determined

an o w

1282066573 A
1282066574 B
1282068575, C
1282066576, D

Consider a production technology that comprises of four firms labeled as A, B, C, and D who all
exhibit constant returns to scale. Each firm uses one input, staff (L ) to produce one output, sales (Q).
Their input and outputs are A(5L.4Q), B(8L.6Q), C(2L,1Q) and D(3L.6Q). The efficiency score of
firm C is:

a 14
b. 1/3
. 12
d: i

1282066577 A
1282086575, B
12820665739, C
1282066580, D

Assume that the consumption basket of a utility maximizing consumer consists of only two goods:
X and y. Assume further that she spends a quarter of her income on good x and the income elasticity
of demand for good x is 0.5. What is the income elasticity of demand for good y?

g A7
b 1.19
g. LIS
d. 1.Z1

1282066581, A
1282066582 B
1282068583, C
1282066584, D
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respectively, output, capital, and labor. This production function exlibits decreasing returns to scale
for

a Q=00
b. Q=05
6 @210
d O>1.5

1282068585, A
1282066586, B
1282066587, C
12820686588, D

Suppose that a monopoly producer of widget has a constant marginal cost of 6 and sells its produce
(x) in two separated markets whose inverse demand curves are p(x1)=24 — x1, and p(x2) = 12—
0.5x2, where x = x1 + x2. How much is the deadweight loss created in the market?

48.5
49.5
50.5
51.5

apop

1282066589, A
1282066580 B
12820665391, C
1282066592, I

Suppose a restaurant earns $4000 per week in revenues from hamburger sales (product x) and
$2000 per week from soda sales (product y). The price elasticity of demand for x is -1.5 and the cross-
price elasticity of demand between soda and hamburger is <4.0. If the restaurant decides to reduce the
price of hamburger by 1%, by how much the firm’s total revenue will increase?

a. $100
b. $ 120
c. 150
d. $90

1282066593, A
12BZ0EEES B

12820686595, C
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Assume that the technology of a firm exhibits constant returns to scale. If the firm experiences both
technical efficiency change (TEFFCH ) and technical change (TECHCH) of 1.5 each. then the firm
can experience the total factor productivity change (TFPCH) of

a. 1.5
b. 1

] 3

d. 2.25

1282066597, A
12582068535 B
1282066598, C
1282068600, I

Assume that a firm’s technology is depicted by the following production function: O = 10 +
LY°K"7 Returns to scale are decreasing for

a. Q<70
b. Q<50
c. Q<60
d. Q<40
1282066601, &
1282066602 B

1282066603, C
1282066604, I

The buying propensity of customers of a retaul apparel store 1s 0.40. What 1s the probability that at
least 50 customers initiate a transaction, given that the total daily footfall is 100?

a. 0.20

b. 040

c. 1-P(z<2.04)
d. P(z>2.04)
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128206866808, D

The market analyst estimates that the probability of a product being popular after launch is 0.60.
He also believes that for a popular product, it is 80% likely that the sales of that product will surpass
the estimated demand. But if the product is not popular, he believes that it is 30%b likely that the sales

will surpass the estimates. Find the probability that the product’s sales will surpass the estimated
demand.

a. 0.80
b. 0.30
c.0.48
d. 0.60

1282066608, A
1282066610, B
1282066611, C
1282066612 D

Consider a production technology consisting of only one firm, which produces 4 units of bad
output and 5 units of good output from only 1 unit of input. What is the (good) output efficiency of
this firm?

a. 4/5

b. 54

B G

d. All of the above

1282066613 A
1282066614 B
1282066615, C
1282066616, D
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input, A pgﬁﬁceg Eeﬂrﬂts of bad output \wwdvsRirs tRaif kendormtput andviBvw ddistiRah kaits @heach.
What 1s the (good) output efficiency of B?

a 07
b. 08
c. 03
g 1

1282066617, A
1282066615 B
12820668619, C
1282068620, D

Consider a manufacturing industry characterized by the following Cobb-Douglas production
function: Q = 10L"°K"® where Q, L and K represent, respectively, the units of output (Q), labor (L)
and capital (K). Assume that a firm operating 1n this industry 1s producing 100 units of Q from 4 units
of L and 40 umts of K. What 1s the capital efficiency of this firm?

a. 4/40

b. 25/100
c. 40/100
d. 25/40

1282066621 A
1282066622 B
1282066623, C
12820666824, I

Consider a mamufacturing firm characterized by the following cost function: C =0.5Q° -10Q
where C and Q represent, respectively, the cost of output and the units of output. For returns to scale
of this firm to be increasing, the output should be:

a. positive

b. zero

c. negative

d. Cannot be said

1252066625 A
12820666268 B
1252060027, C
1282066628, D www.FirstRanker.com
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Consider a manufacturing firm characterized by the following cost function: C = 100 - 0.5Q,Q: +
(Q1 Y + (Q. ¥ where C represents the cost of producing outputs Q; and Q.. The firm wishes to produce
5 units of Q and 4 units of Q;. What are the returns to scale of this firm?

a. Increasing

b. Decreasing

c. Constant

d. Camnnot be said

1282066623, A
1282066620, B
1282066621, C
1282066622, D

Consider a manufacturing firm characterized by the following cost function: C = 100 - 0.5Q,Q; +
(Qi ) + (Q2) where C represents the cost of producing outputs Q; and Q.. The firm wishes to produce
5 units of Q; and 4 units of Q;. What is the scale elasticity of Q; of this firm?

a. 131/40
b. 131/22
G 13362

d. Cannot be detenmined

128Z20EE633. A
1282066624, B
1282066635, C
12820686636, D

Consider the short-run production function for wheat industry: Q = f (X Xy) where Q represents
wheat production in tons per hectare, the variable input X, represents fertilizer in kgs per hectare, and
the fixed input X represents area in hectares. Assume that X¢= 1. There are two firms A and B
operating in this industry. The efficient firm A uses 40 kgs of fertilizers to produce 3 tons of wheat
and the inefficient firm B uses the same 40 kgs of fertilizers to produce 2 tons of wheat. Assume that
unit price of wheat (p) is 100 dollars per ton, and the unit price of fertilizer (w) is 2 dollars per kg.
Let us assume that the profit maximizing level of wheat production is at 5 tons from 80 kgs of
fertilizers and the capacity level of wheat production is at 6 tons from 200 kgs of fertilizers. What 1s
the optimal capacity idleness of firm B?

3. Ji3
b. 2/3
e 3/5
d 5/6
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1282066635, C
1282066640, D

Assume that, for a utility maximizing consumer, the income elasticity of demand for good x is 2,
the price elasticity of Hicksian compensated demand is -1, and the price elasticity of Marshallian
demand is -2. What is the consumer’s expenditure share on good x?

a. 20 per cent
b. 30 per cent
c. 50 percent
d. 40 percent

1282066641 A
1282066642 B
12820668643, C
1282066644 I

Assume that the consumption basket of a utility maximizing consumer consists of only two goods:
x and y. Assume further that she spends 60 per cent of her income on good x and the price elasticity
of demand for good x is -0.5. What is the cross-price elasticity of demand for good y?

a 65

b. -6.5

& TS5

d -7.5
1282066645 A
12820686646, B

12820868647, C
12820868845 D

Consider a production technology characterized by five firms — A, B, C, D and E. Each firm uses
different combinations of two inpuits — labor (L) and capital (K) to produce 1 unit of output. The input
data are as follows: A (2L,12K), B (6L,4K), C (14L,2K), D (5L,10K ) and E (12L,5K). What is the
input technical efficiency of firm C?

a. 14/2

b, 1

¢ 14/16
d. 2/16
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1282066651, C
1282066652, D

Consider a production technology characterized by five firms — A, B, C, D and E. Each firm uses
different combinations of two inputs — labor (L ) and capital (K) to produce 1 unit of output. The input
data are as follows: A (2L,12K), B (6L.4K), C (14L,2K), D (5L,10K} and E (12L,5K). What are the
accounting prices of labor (w) and capital (r) for firm B?

w=1/16 andr=1/8
w=18andr=1/16
w=1/5andr=1/5
w=1/5amdr=4/5

RO op

1282066653, A
1282066654 B
12820668655, C
1282066656, D

Consider a production technology characterized by five firms — A, B, C, D and E. Each firm
produces various combinations of two outputs — Q; and Q; from the same 1 unit of input. The output

data are as follows: A (2Q1,16Qz), B (8Q1,12Qz), C (12Q1,4Q2), D (3Q1,9Q2) and E (7Q1,5Qz). What
is the efficiency of firm A?

a. 2/16
b. 2/18
c. 16/18
d 1

1282066657, A
12820686658, B
12820666559, C
1282066660, D
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data are as follows: A (2Q,16Q2), B (8Q1,12Q2), C (12Q1,4Q2), D (3Q1,9Q2) and E (7Q1,5Q;). What
is the efficiency of firm E?

:! Elgﬁwak%ag&mxwemedw five firms — A, B, C, D and E. Each firm

a 19/28
b. 21/28
c. 23/28
d 17/28

1282066661, A
128206EEEZ. B
1282066663, C
1282066664, D

Consider a production technology characterized by five firms — A, B, C, D and E. Each firm
produces various combinations of two outputs — Q; and Q; from the same 1 unit of input. The output
data are as follows: A (201,16Q,), B (8Q;,12Q3), C (120Q:.4Q2), D (3Q1,9Q;) and E {7Q.5Q:).
Compute the accounting prices pr and pz of Q; and Q- respectively for firm D.

p1 =2/52 and p2= 50/52
p1=1/52 and p,=49/52
pi1 =2/52 and p, = 3/52

p1 =50/52 and p; = 1/52

an op

1282066665, A
128206666, B
1282066667, C
1282066668, D

Consider a manufacturing firm characterized by the following cost function: C = Q + Q"’.
Compute the output level at which the minimum efficient scale occurs to this firm.

a Q=1

b. Q=0

¢c. Q=100

d. Cannot be determined.
1282086669, 4

1282068670 B

1282066671, C
1282068672, I
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